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1 s BUE 46 48 94| 22.0 72.0
2 R —=% 46 44 90| 17.2 72.8
3 B — 47 44 91| 17.2 73.8
4 FHEET 46 43 89 14.8 74.2
5 HHIE 39 43 82| 7.6 74.4
6 fAAEH] 46 51 97| 22.0 75.0
T fENE IETR 43 46 89 13.6 75.4
8 K =% 48 47 | 95 19.6 75.4
9 e 52 49 101| 25.6 75.4
10 g R85 46 48 94| 18.4 75.6
11 Pakf— 47 47 94 18.4 75.6
12 HHES 40 40 80| 4.0 76.0
13 Ak 47 48 95| 18.4 76.6
14 HREIEFR 46 48 94 17.2 76.8
15 RESHS 47 46 93| 16.0 77.0
16 FHEHEZ 46 47 93| 16.0 77.0
17 KA 44 41 85| 7.6 77.4
18 #RJL3E A 39 46 85| 7.6 77.4
19 it ®IiE 49 54 103 25.6 | 77.4
20 FEHRE 49 53 102] 24.4 77.6
21 EEFIEFD 52 49 101] 23.2 77.8
22 FHHEAR 53 57 110 31.6 78.4
23 BRI 41 49 90| 11.2 78.8
24 HHg— 51 50 101 22.0 79.0
25 AAEE 48 57 105 25.6 79.4
26 Zfn HiE 52 53 | 105 25.6 79.4
27 RAIES 51 53 | 104 24.4 79.6
28 fFHEEIER 42 49 91 11.2 79.8
29 BEZEHA 47 52 99| 18.4 80.6
30 “EEF RN 46 56 102 19.6  82.4
31 REUA 48 53 101] 18.4 82.6
32 KAt 54 55 | 109 24.4 84.6
33 HEHREX 50 63 113 25.6 87.4
34 MREZ—RER 51 66 117 23.2 93.8




